EARAROBEEIERT — 2 N— IBISH —F

20145F8A7H () 8mPI5I6H

2R BN i s VY (w8 [ 1memml - | v ) oo mE
[A&4£] 1 7% :300,000 ™ ~ 23#%&:60,000H”  33&:4500 M  437&:30,000H .~ 57&:15,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
AN KEFF) :15. - . — KNG (AtimE)
N s DEEEES 2% e e M e s
BV = e 1%, o 2 = B = 30 m Bl D | R O 2 TI3XT7T7— LA
S, Bel EBEE 15, — . - NEEN (AtimE)
ol7lg|Va—T>vx H o2 i 1(125)7 2-2 38.1 1 tg)z it i
L EY/FA45Z Bt —FvILR BEERS
- . HERE : ~ - 1L (AtimE)
slzl7 | A—7Fv> i 2 L 1.(167>.o 6-6 38.8 3 (4_026) g il
Vv TRy N BiA—-TUIFT RENS
<7z B o2 | BEEY 1:17.2 7-7 8.7 — 8 412 | EZEE (bEE)
4|5|5| ¥T7L2X 54.0 ) (<) | REES] -
A Lhk—L B:vA4717LT1 KE%S
o .= . BN 7. — . - FEREIESL (dtimiE)
5lglo|/tvo4TI12 i 2 = 1(127)6 3-3 39.9 7 (4_128) = Bl
R:TFyTaAK BN TR B 1B
B N w2 | AllE 1:17.7 7-8 39.2| — 2 458 | EAREIHE (tEE)
68|10 YA PRFAIY— 54.0 3/ ) | AE—
RiXTANA Y= B gIH—Ta W A
— 7 st 2 | Bt 1:18.2 5-4 40.3| — 5 480 | ZERE (tiEE)
] 3| TFALR 54.0 2 1/2) (q) | FEEE
R:TFAT7 X84 L B:TIETY YrovA G
B2 | BHER 1:18.4 3-4 40.7| — 6 402 | BWAF (AtimE)
8111 r—)—F—1— 54.0 (3/4) (0) ILBRRR A&
L:7HA4FALNK BHISTF4T5 pitie]
= N JNBHEA :20. - . — Kt (dtimE)
9 4| 7> 7—AXZKR o2 54.0 (1924015) ¥ 21 ’ f‘g EHYH e
LA MENE BTy IS — FIR IE
2 | 2@R= - - - = | = | - |mwEE auew
™ > PR # 5.0 (BGH) (=) ) 75> KB
L:T74NWKTy a2 B:RIWNFTF—T7 DEAHZAT—T I
® 1—F—@EBIERL
13—7-—
2a=5"=
33—7— |6,8,(1,9,3,7,(5,10),4
40—+ — 6,8,9,(1,3),7,5,10,4
[ N5
B 6 1,000 714K 6-8 290M e E 6-7 570M JEE 6-7-8 1,170H
B B 6 240H 6-7 1,070H B = 6-8 600 EE 6-8-7 5,710
8 120 7-8 360M B H 6-8 1,190M
7 260M

ABICOVWTRDTEEERROODE. TR LIV,




